MA 109 Summer 2018 7/19/2018

Exam # 2

Directions: Carefully read each question below and answer to the best of your ability in the
space provided. You MUST show your work to receive full credit!

1. (10 points) Interpret the following in terms of distance on the number line:
|z + 6] > 4.

1. z is more than 4 units away from 6.
@  is more than 4 units away from —6.
3. z is more than 6 units away from 4.

4. x is more than 6 units away from —4.

5. No solutions.

2. (15 points) Solve the following inequality for z. Express your answer in interval notation.
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3. (8 points) Decide which of the following tables could describe a function. If a table could
describe a function decide if it is one-to-one.

Toput [ 2] 3 [ 17 [A)[11]. ) L _ L
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Output | 1 |6 | 1 | -7 |-14
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4. (10 points) The function f is defined piecewise in the following way:

—z+1 ifz < -3
fl@)=14 z2+2 if —3<z<4
9  ifz>4
Find the following:
o f(=10)=_— o) 41210 H={(\]  since -10 £ ~3
—
&N : i3 £53
e f(=3) = =(-2)t1 =3 ¢l 2[4 since
—
- ' 3 <05 ¢4
® — 21 = g ce
fl0)=_0+ E
o f(4) = lew_: (& +2=)f5( Sinee 3 <4 x4
P,-—-
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e £(300) = L/__q_{ sinee
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5. (10 points) Let f(z) = 2 — 3z + 1. Calculate the difference quotient flz+ hi) — /(=) . Sim-
v

plify.
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6. (10 points) Find the average rate of change of f(z) = 2> — 3z + 1 as x changes from —2 to 3.

\) if(-lj :L—ZS\“EC-Z)—H: U+ 1= 1\
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7. (10 points) Find the inverse function of I(z) = 3z — 6.
Lo g:{Cx)_'Th% =3x~6. Mow  Swap x omd y  Shat s
X=234-6 ad wle o o .

X?—%‘ﬁ-@ — Xt+th =34 _—

X+ 6 o | 70N X6
e

8. (15 points) Suppose f(z) = vx + 2 and g(z) = 22 + 2.

e Find the domain of f(z).

|

Remerber va wam oy foke (g re ot ol ounegetive numbeors i

e Find the domain of g(z).
(on, even mers eor divigew ,Yleus do ol w ix ][R’N Q S 4 %)k

e Find f(g(z)).

’f(g(x)) =f (x™x2) = \m :ﬁ\J x4 &

e Find g(f(z).

3 QOLOC)B :gQ\I;Z) =Q\I—?<TL'%—+'L: X+L+'L:|)< +H E

e Find g(g(z)).

S(S(?*)) = %(&L’«?—) = (?\L-'rl)l‘—\-‘z_
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9. (12 points) Below is a graph of y = y/z. On the same axes sketch a graph of y = v/z + 3 + 4.

: . . , AY :
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10. (10 points) Bonus: Spell your professor name ©

\/Qij 2adororbnyy
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Name:

Question: 1 2 4 5 6 7 8 9 10 | Total
Points: 10 15 10 10 10 10 15 12 10 110
Score:
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